
Вариант 1 

 

1. Выполните деление:  

   

)32,22 : 0,9; ) 52,8 :1,05; )6,6447 : 2,14;

) 0,065 : 0,02; ) 14,28 :1,19; )7,156 : 0,01;

) 49 : 2,8; )0,1995: 0,15; )60,416 :1,18.

а б в

г д е

ж з и

 

2. Выполните действия:          51,26 5,603 :8,9 18,7 0,6   . 

 

 

 

Вариант 2 

 

1. Выполните деление:  

   

) 42,21: 0,6; ) 34,8 :1,05; )18,2 : 7,28;

) 0,165 : 0,04; ) 6,7196 : 2,14; )9,153: 0,01;

) 24 : 2,01; )8,32 : 0,16; )5,4782 :1,82.

а б в

г д е

ж з и

 

2. Выполните действия:          186,899 54,623 :7,3 1,6 1,4   . 
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